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Find each sqoare root. ' o
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Solve each equatwn. Round to the nearest tenth, if necessary.
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Find the value of x in each triangle.
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Fiod the value of x in each triangle. Then classify ecach i:rmngla by its mgies and
by its zidos.
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The langths of thres sides of & triangle are given. Determine whethor each
triangle is a right triangle. 5* 2" 15
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If ¢ is the measure of the hypotenuse, find ecach missing measure, Round
nearest tenth, if necessary.
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Find the distance between sach pair of points. Round to the nearest tenth,
if necossary. '
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GEOMETRY The coordinates of the vertices of a friangle are given. Find the
perimeter of eack triangle. Round to the neavest tenth, if noecossary.
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